ol
XS
ol
o8

dig
Nfo

B
T

ojn

-8 =2+2i

©)
@ 39] 5]

2 0o]tt.

== Ne)

T

® V=2 & &85olt,

It

o

tol =3 o] = 4= £ V3

S

® A&



2.

(3+i)(a+bi) = 1-3i
o2

@® -2 @ -1



ey
10 10



4. 359 o tiste] i +i2 + 8 4 i +i® + %2 7HHS]|sHAE?

D 1+i @ -1+i ® 2i
@ 2+i ® 2



5. x=1+ V2iy=1-v2i @, x> +y? 9| g P57

O -1 @1 ® -2 @ 2 ® -3



a+bid o, 9] Aol A5z =a-bi 2 HeERdTh o2

Ax
%

Z

3i

-2+

@ -2- 3i

24+i=2-1i

@

®i-1=i+1



o|J
S
o}J
ol
Nfo

ojn

:
7°F

¢ @__@

-Vi2
- V12

—4

—3x V4

-3 X

O
©)

-3
©



21 o) g2 ohwe

@

Wl =



@ -10 @ -11 @ -12 ® -13

® -9



10. e QRS ol8ste oA A & Zolth. @Ol d32
°9

A

11x2 - 13x+2=0
(11x-2)( @ )=0
2

x=—IE=x=1

1

D x-2 @ x-1 @ x+1 @ x+2 ® x+3



OIAAA (x—1)(x+3) = 7] =2

-1+ V11
@
2 2

@ -1+ V11 ® 1+ V11

® -2+ Vi1



o|J
afl

o

A

X2-mx+2m+1=

34

o171y

12.

@ 2 ®0

@ 3



13. 0hg olAEA F A e 5 4TS 2 AS BE D2
@ 2 +2x+1=0 O x2+2x+4=0

© >4+4x+2=0

ONQ) @ © ® © @® 06 0060



Al x2 —6x+k=009]

1:(‘)}7%1 A

17}

14.

@ 3 ® 6 @ 9 ® 36

D1



® 2

@0

1



16.

©a<z @a>% ® a<?2



17, oA 22— a(kr-5)+3 = 0°] S12& 71w, B4 ko] HTAGHS
S

@ -3 @ -2 ® -1 @0 ®1



OIZPTA A ax? 4+ bx+c =

18.




?=3x+1=09F oo, W, o® + 9] G227

@ 4 ® 5 @ 6 ® 7



20. FHH 22 - 6x+3 =09 F 20 g T W o2 1529 }S
F5}?

@1 @ 2 @ 4 @ 5 ® 6



oMYA 2x° ~6x+3 =

21.

@ 4 ® 6 @ 8 ® 10

D 2



22. OlAPIAA 20— 4x-3 = 09] T & 0,7 T 1), o447 9] L7

© 7 @ 6 ® 5 @ 4 ® 3



23. oS y = 22+ kx—k O] T 1 ET} THES SHE 4k
o] grel ohd 127

@ -8 @ -1 @0 @ 5 ® 8



24.

oAty = ¥ - 2(k-3)x + 49 THPLI} xF A& TE F
HollA e w, 4= ko] grel el
@ k<1 @ 1<k<3

® k<3 @ 3<k<5

® k<1EE=%k>5



25.

2 4kx ALy =x+10] AE G2 F HoJA
k ° Hel=?

oL |

=1y
W]
D k>2 k<-1 @ k>3, k<-1 ® k>1, k<-1

@ k>3, k<-2 ® k>3, k<-3






27.

o

P ) = 27 - 204 2 O] A Y

® -1 @ 0 @ 1 @



28.

-2<x <39A y = x2 -2x-229] F|AZ I} F4=719]

@ 3 @ 7 ® -2 @0



OIAF A y = —x? — 20 + (-3 < x < 1) O HAGL a, HEGE bet
B, a+ 50| FHS FIH?
® 4 @7

3 8 @ 11 ® 12



OJAFRtF y = 2x2 —6x+5(2 < x < 5) ] A a, HEHS bA Z
o, ab €] k& -51H?

@1 @ 4 ®9 @ 16 ® 25






P4 X3 +27=09 &

&

A}z
=]

32.

@1 ® 2 @ 3 ® 4

Do



1

@ 2

® 3

@ 4

@ 5



m,

o]
=

AL ax +by =8, 2ax—by=-29 Ol x=1, y=2

ol
N

o

@ a=3,b=2

-3

D a=-2,b

@ a=2b=3

®a=2b=-3

-2

® a=-3,b



35.

2994

2x 4+ ay =10
x-y=b
O 7k x =2, y = -3 W, a+ b FHE?

——

@1 @ 3 ® 5 @ 7



x+py=1

— |

® 2

@1



